Intro to college math: Chapter 2.2
Multi-step Equations

* Multiplication property of equality: multiplying both sides of an equation by the same nonzero
number will not change the solution set.

EA=D (then AC=6-C

* Division property of equality: dividing both sides of an equation by the same nonzero number will
not change the solution set.
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1. Solve the following equation by multiplying both sides by -1.
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2. Solve the following equation by multiplying both sides by -1.
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3. Solve the following equation using the method shown in the examples in this section.
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4. Solve the following equation by first clearing the decimals.

-1So +9 = -55
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6.Solve: -33= S -3 ' ~
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7. Solve the following equation. Los + Ts -5s = -4p
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8. Solve the following equation. - 27+3 = Qs rds +lo3
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12. Solve the equation for the variable. OLZ, - [_QO = 'ZQ E,"'lp()

Qz-10 = -loz+10
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